CIRANIEE R Tl SRR X g
F2 50 L ARG RE IR
102.06.21 )« 5*

g R E
106.12.05 % 3 = + #3 K:a:jm g
106.12.08 % 7% & 3411 &

!
’

~

ﬁ;}:@%’;‘jﬁﬁ/‘ maEE %?%h”%ﬁﬁéﬁvﬁﬁ ’ "U%if'i‘?f'* 2 BB s ﬂ%'vlﬁj
RE- A TRZ? DA FTRIEF hada1 £ k53 S0 L0 R AR
2y (T RAEATRER) -
VSR RBAnias gl (W
VR AR FEFEERREFEA N
¢ 3%‘?!?“\’ : féf'%”nﬁ R IR R Ol rﬁ',fi
oV gEE D ERERG (B Y e
Kﬁﬁi’ﬁi"k °
RS RAR LS S B S BB R BE AT b5 e kg
ﬁﬁﬁﬂ% £RBMEP A B VR L R e
(=) ~ %;m%&‘?
1 4 W24 t MMy 2y EABES 1 % 10,000 ~ ~ % 2 % 8,000
~ -~ % 3 %6,000~ -
2. 4 FRARPN L BMER 2R E  EABGF 125000~ %2 %
4,000 ~ ~ % 3 % 3,000 ~ -
(z) ~Eh P

1 >REAPESE

B ) 5 R R -

SN = I I
/

g
’

ERTLIE) - ST o S 1 A

)
’

1) TL%A?%3”‘1%1,500%\%3231,200’1‘3)33?1,000’10

2) 'E%%T?%Z”‘1?3,000’1\%32?2,400’1‘3)33?2,000’10

3) I_ﬁ]%_*é’%3”‘1?5000%\%32?4,000’1‘3)33?3,000’10
2 ARPEFEIBRARE  LAFER L2 o

1) fﬁ&%:ﬁ&looomo

2) B F & L 500 % o

3) MAE . &1 2000 & o
SN APEE Sk §3~§€§3@@fe ST BTN o




S SYTERE PR T 3.3 e

106.12.8 %
575 v s o
) B R E R
GRED ) F C ) ¥
) e (  IBE%E ( )2>FE
A ) C &R ( )2RpEzERiw
S G4 B g 5 Eirwg e T T 2E

AW PR B
TR
“’“r)éﬁﬁiﬁ "fp %ff{jﬁ: L; e
B (B 7 < & 1)

~ FIRE g

A EY &R iﬁg
FHEAEE

kamE gL




=
—‘@%ﬁﬁ:é%ﬁ%*%*#%ﬁim’}iﬁﬁ
- \E'?;%—}"r”i;:jz":‘ I EEBR I (B A) E"L;\‘“’T’]fﬁl‘f#ﬁrﬁg %?”%iéWéiﬁ%%ﬁ‘ZEﬁ%’éﬁ
iﬁﬁﬁA°
SN2 SRR R E T S 5. ﬁlﬁ%$%loﬁ@$ﬁa31E@gﬁa@?
ﬁ&*”% EEMHMEP T B RERFHFYE R o™
(- ) & Fapgy:
3. 4 R'F4w L WM E 2 2of kg P A S 1 ¢ 10,000 ~ ~ % 2 ¢ 8,000
s % 3 %6000 % -
4. d P AP BB 2REEE AR 1250007 0 %2 7
4,000 =~ ~ % 3 ¢ 3,000 ~ -

(=) @ HFH
3. 2HMHES ¢ !
1)![%4% %1%21500~-~%2%1200~ % 3 % 1,000~ -
2)%#% % 123000~ ~%2%2400~ ~ % 3 % 2,000~ -
3)@]%&%-”‘1?5,%0%\%2?4000;~‘§33?3,000£°
4 2HMERE 2 BRIEL LA FTS L L
1)1’@;4?}:@&1000710
2)%¢T§=:i&5oo;uo
3) @]%ﬁ'?} D& 2000 o



